

$f: [A, B] \rightarrow \mathbb{R}$ je spojitá, potom:

$$\lim_{h \rightarrow 0} \frac{1}{h} \int_a^x [f(t+h) - f(t)] dt = f(x) - f(a)$$

a to $\forall a, x: A < a < x < B$

d. ad f je spojitá, potom $x \mapsto \int_a^x f$ je spojitě diferencovatelná a $\frac{d}{dx} \int_a^x f = f(x)$

takže: ozna $\int_a^x f = F(x) - F(a)$ a potom

$$\int_a^{x+h} [f(t+h) - f(t)] dt = F(x+h) - F(a+h) - (F(x) - F(a)) =$$

$$= \{F(x+h) - F(x)\} - \{F(a+h) - F(a)\} \stackrel{\text{ozna}}{=} \Delta$$

a potom

$$\lim_{h \rightarrow 0} \frac{\Delta}{h} = \lim_{h \rightarrow 0} \frac{F(x+h) - F(x)}{h} - \lim_{h \rightarrow 0} \frac{F(a+h) - F(a)}{h} =$$

$$= F'(x) - F'(a) =$$

$$= \underline{\underline{f(x) - f(a)}}$$